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QUESTION 1

Given that devices used in the backup are accessed using fully independent paths through the fabric and ports at the
array. Which backup strategy has the least impact on perform the most improved availability to a production application
running in an active/standby cluster? 

A. backup at the standby host from a split-mirror point-in-time copy. 

B. backup ata the primary host from a snapshot of a clone point-in-time copy 

C. backup a the standby host from a delta-snapshot of the production disks 

D. backup at the primary host from a multi-point snapshot of the production disks 

Correct Answer: A 

 

QUESTION 2

You no longer have any port availability in the company\\'s switch fabric. There is a decommissioned switch available.
When it is installed, there is a segmentation error. what is the cause the problem? 

A. The wrong cable type was used to connect the switches 

B. The cable was connected into other wrong port on the target switch 

C. A duplicate zone name exists on the switch you are adding 

D. the domain priority is inconsistent 

Correct Answer: C 

 

QUESTION 3

Which characteristic differentiates an IP storage adapter from a traditional network interface card (NIC)? 

A. 2 Gbps data rate 

B. TCP/IP offload engine (TOE) 

C. jumbo frames 

D. link aggregation 

Correct Answer: B 

 

QUESTION 4

More than one backup instance has run. Given the same data set, which backup would be larger since the last full
backup? 
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A. incremental 

B. differential 

C. copy-on-write snapshot 

D. ILM snapshot 

Correct Answer: A 

 

 

QUESTION 5

Serial-Attached SCSI(SAS) supports which two link speed? ( Choose two) 

A. 1.0625 Gbps 

B. 1.5 Gbps 

C. 2.125 Gbps 

D. 3.0 Gbps 

E. 4.25 Gbps 

Correct Answer: BD 
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